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BACHELOR'S DEGREE PROGRAMME 
(BDP) 
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07-67- 5 
	

December, 2019 

(APPLICATION ORIENTED COURSE) 

AEC-01 : ENVIRONMENTAL CHEMISTRY 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt all the questions. The marks for each 

question are indicated against it. 

1. (a) Complete any five of the following : 	5x1=5 

(i) is the study of impact of 

pollution on aquatic life through 

biological measurement. 

(ii) is the process of removing 

disease-causing germs using chlorine 

or ozone. 
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(iii) An anion exchanger membrane will 

retain 	during ion-exchange 

process. 

(iv) The number of moles of solute 

dissolved in one litre of solvent is 

known as 	 

(v) Excess of fluoride ions in water may 

cause 	in animals. 

(vi) 	 is the temperature at 

which saturation is reached if the air 

is cooled at constant pressure without 

addition or loss of moisture. 

(b) Define any five of the following : 	5x1=5 

(i) Fauna 

(ii) Chlorosis 

(iii) Mineralisation 

(iv) Chromatography 

(v) Mole fraction 

(vi) Alkalinity 
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(c) Answer any five of the following : 	5x2=10 

(i) What is humidity and relative 

humidity ? 

(ii) What are the main advantages of 

organic ion exchange resins ? 

(iii) What are the properties of a good 

chromatogram ? 

(iv) Name any two heavy metals 

responsible for water pollution. 

(v) Name two diseases caused by water 

associated insect vectors. 

(vi) Name any two preservative 

techniques used for water sampling. 

2. Answer any four of the following : 	 4x5=20 

(a) What are metamorphic rocks ? Name the 

minerals that are dominant in them. 

(b) What is rainwater harvesting ? Give its 

benefits for hilly areas. 

(c) What is ozone layer depletion ? Discuss its 

effects. 
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(d) List any three methods used in the disposal 

of hazardous waste. Describe any one 

method in brief. 

(e) What is redox titration ? Calculate the gram 

equivalent weight of KMnO4  in strongly 

acidic and weakly acidic medium. 

3. Answer any four of the following : 	 4x5=20 

(a) List any five important characteristics of 

indicator organisms. 

(b) Describe the advantages and limitations of 

paper chromatography. 

(c) What are the different ways by which 

pesticides enter into water bodies ? 

(d) Briefly describe any two methods of sewage 

treatment. 

(e) What is meant by AAS ? What are its 

advantages over emission method ? 

4. Answer any four of the following : 	 4x5=20 

(a) Briefly describe the characteristics of 

tannery wastes. 
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(b) What is the Beer-Lambert law ? Give any 

two cases for deviation from the law. 

(c) How can pesticide residues in soil be 

minimised ? List any four methods. 

(d) Explain the law of diminishing returns. 

(e) Why is alkalinity due to carbonates larger in 

groundwater than in surface water ? 50 mL 

of water sample requires 5.0 mL of 0.01 M 

EDTA for titration in presence of 

Eriochrome black-T indicator. Calculate the 

total hardness. 

5. Answer any four of the following : 	 4x5=20 

(a) What are chromophores ? Identify the 

chromophores and types of transitions 

present in the following compounds : 

(i) CH3C 00H 

(ii) CH3CONH2  
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(b) What is the role of aluminium in enhancing 

soil acidity ? What are the other ways of 

formation of acid soils ? (Give any three 

ways) 

(c) What are the important physiological 

functions of potassium ? (Give any five) 

(d) Discuss the factors affecting solubility of 

gases in water. 

(e) What are the advantages of ion-exchange for 

treatment of wastewaters than other 

methods ? 
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